Input Output Points
42 42 2
0 NIL 3
(PLUS 2 3) (PLUS . (2. (3. NIL))) 3
(PLUS (2. (3.NIL)) (PLUS . ((2. (3. NIL)) . NIL)) 3
(ATOM 3
(QUOTE (2 . (ATOM . ((QUOTE . ((2 . 3) . NIL)) . NIL))
;’v))
(CONS (PLUS 2 3) (MINUS51)) [(CONS.((PLUS.(2.(3.NIL)).((MINUS. |3
(5. (1.NIL))) . NIL))
(PLUS -2 +3) (PLUS . (-2. (3. NIL))) 3
(2.3] Error 2
(2..3) Error 3
(2.3)) Error 3
(CONS (PLUS 2 3).(MINUS 5 1)) | Error 3
(42LIFE 3) Error 3
POLICY.INSURANCE Error 3
(2.(34)%$5) Error 3

20 points for valid test case
20 points for invalid test case
5 points for README

5 points for Design

Total 50 points




